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prohibited material is found with any candidate, strict action will be taken against him/her as per rules.

Warning : If'a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.I.R will be
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(E) 3¥gaia s
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Which of the following enzymes helps in the breakdown of
fats during the process of digestion in the human body?

(A) Amylase (B) Trypsin

(C) Pepsin (D) Lipase

(E) Question not attempted

If the two alleles for a particular gene are identical, then the
gene pair is called:

(A) Homozygous

(C) Recessive

(E) Question not attempted

(B) Heterozygous
(D) Dominant

Which of the following countries will host the Asian Games
in the year 2026?

(A) India (B) China  mrm

(C) United Arab Emirates (D) Japan E‘gﬁ

(E) Question not attempted

When was the first Foundation Day of the Lokpal of India
celebrated at The Manekshaw Centre, New Delhi?

(A) 16 March, 2015 (B) 16 January, 2025

(C) 16 January, 2015 (D) 16 March, 2025

(E) Question not attempted

What was the theme of the Indian Union Budget 2025-26
presented by the Finance Minister of India?

(A) Digital India

(B) Sabka Vikas

(C) Next Generation Reforms

(D) Vasudhaiva Kutumbakam

(E)_Question not attempted

The Prime Minister of India visited which National Park to
chair the 7th meeting of the National Board of Wildlife on
March 3, 2025?

(A) Gir National Park

(B) Ranthambore National Park

(C) Kaziranga National Park

(D) Jim Corbett National Park

(E) Question not attempted

In which state of India is the “Neermahal festival”
celebrated?
(A) Assam
(C) Meghalaya

(E) Question not attempted

Which city of Rajasthan hosted the 12th Regional 3R and
Circular Economy Forum in Asia and the Pacific?

(A) Jaisalmer (B) Jaipur

(C) Udaipur (D) Jodhpur

(E) Question not attempted

Which of the following awards was conferred to Shri Sheen
Kaaf Nizam (Shiv Kishan Bissa) of Rajasthan in the year
20257

(A) Sagar Samman Award (B) Padma Vibhushan

(C) Padma Bhushan (D) Padma Shri

(E) Question not attempted

(B) Tripura
(D) Nagaland

Which of the following Ministry of the Government of
India, is organizing the National Integration Camp,
Rajasthan 2025?

(A) Ministry of Tribal Affairs

(B) Ministry of Youth Affairs and Sports

(C) Ministry of Health and Family Welfare

(D) Ministry of Agriculture and Farmers Welfare
(E) Question not attempted
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(B) ST & fofeh afeismT (JSLP)

(C) W e feieh ITRIISHT (RILP)

(D) 3Tq S fofeh TREISHT (AJLP)
(E) gafid 9

12 TSI U9 991 2025-26 % ATAR, fFE T o 0 Raeftn
uTeh TfUa foha Sam?

(A) Teitere (B) =it
(C) 3T (D) SR
(E) 3¥gaiasg
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SiTaTsE ¥ AAfUd Bt 2,377 fSraehl 21 Jenor amar Sfisft 3t
st & Bl 27
(A) e femw (B) ATt feeh
(C) = fe& (D) =i fern
(E) Agafaug
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(A) fearsa v (B) o Hiwearr
(C) IR divear (D) UfteTeha WFaRR
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(A) TS ! e | T
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(C) W STHehd! o fTT SRATchahd Rt 1 Ueh §HE ST
(D) <EATES Sl AT St
(E) 3¥gaiasg

16 J8 42 GLET IUH Sl $2E FlawH o HIETH H 3 a1t
SRR ol fheet T 2, e 2:

(A) T (B) FHI
(C) g (D) BrEET
(E) 3¥gaia 9

17 3-8 § BCC %1 99 919 2:

(A) SATEES FARM HMAT  (B) Scish helda it
(C) =ik hIeid shidt (D) SATES HTa Hidl
(E) 3¥gaiaug

18 T G & wifctss shdei ol forg Gmied 3 Arew & et
TR o7
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(E) I7gafaws E
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(C) T T ITSH e (D) TIST T HETTETh
(E) rgafd gg
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In January 2025, Parvati-Kalisindh-Chambal-Eastern
Rajasthan Canal Project (PKC-ERCP) Link Project has
been renamed to -

(A) Ramjal Setu Link Project (RSLP)
(B) Jal Setu Link Project (JSLP)

(C) Ram Jal Link Project (RJLP)

(D) Amrit Jal Link Project (AJLP)
(E) Question not attempted
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According to the Rajasthan State Budget 2025-26, a toy
park will be established at:
(A) Chittorgarh

(C) Udaipur

(E) Question not attempted

(B) Kota
(D) Jodhpur

Which of the following storage disks is made up of metal
and coated with metal oxide, and also have data storage
capacity in GB and TB?

(A) Hard Disk

(C) Blu-ray Disk

(E) Question not attempted

(B) Floppy Disk
(D) Compact Disk

In Computer, which of the following software is designed to
control operations?

(A) . Device Software

(C) Utility Software

(E)  Question not attempted

(B) System Software
(D) Applicatiion Software

What is the main purpose of the feature called “Mail Merge”

in Word?

(A) To Print documents in bulk

(B) To create document in pdf format

(C) To create a batch of documents that are personalized
for each recipient

(D) To check spelling of a document

(E) Question not attempted

The network security program or device that filters the
information coming through an internet connection is
known as:

(A) Hackers

(C) Crackers

(E) Question not attempted

The full form of BCC in E-mails is:

(A) Blind Collection Copy (B) Black Collection Copy
(C) Black Carbon Copy (D) Blind Carbon Copy
(E) Question not attempted

(B) Cookies
(D) Firewall

Through which Indian Constitutional Amendment, were the
Fundamental Duties incorporated?

(A) 42 (B) 44

(C) 50t (D) 36"

(E) Question not attempted

Under Article 217 of the Constitution of India, who among
the following appoints the Judge of a High Court? (Choose
the most appropriate option from below)

(A) Chief Minister of the state

(B) Prime Minister of India

(C) President of India

(D) Advocate General of the state
(E) Question not attempted
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(D) TG T GSET &l & Hehell
(E) orgafd 9

21  USHUTS 1 Shaed 37 ATl SIgeht [SH TsgaTe 37194 faae
Yl T E, ST H1AT ok (SaTe B GeTErdT 37 TeTe < aret
wfraftea =T T i 2 22
INBERIETES (B) T& A
(C) Hewst (D) TS o wft
(E) gafid 9

22 16 TSR faemET % S (S, 2025 % ITIER) FH €2
(A) e I% AT (B) dz g v@mEa
(C) arged ST (D) Trafare fiet
(E) 3rgafa g

23 TISEAM 39 AT 61 7 i3 Faf feua 82
(A) SR (B) S
(C) I (D) IR
(E) rgafd o

24 TSEIN W hET YR & AHUN HEIM(CAZRI) F
AT e R 27
(A) g (B) Sg
(C) R (D) SHEHT
(E) 3¥gafawd

25 oars 5 fg T oy 1734 ¥ warat o6 qarelt & @ qean i 39
TS 37 T 31 Tehed o FoTT TSTEAT 3 |efl STeehi 31
Ueh GrieT SATNISIA fohaml 36 oo <l s/m 9 feam mam?
(A) TETEHAA (B) GITHT &
(C) ITaTTaTEl e (D) ST gHe
(E) Agafayg

26 frefafaa & & ford fsrfeeti & Raems faEie @ufed s+ % Fror
2reTe foret T e Tera T @
(A) ¥ag fiE smEs (B) dird uet HerT
(C) GTREe T (D) U= TS fig e
(E) rgafd 9

27 TSR % TH & i, Fefafed 0 @ se-d) fama
HoE e T feemr e off? (T | O Hes 3T foehed )
(A) IR (B) WX
(€) SIq (D) ®acft  EISE
(E) 3¥geia 9 e

28 39 ufhg Hiftaer 1 A warsy, e wfafya I geeew @
TR feRam T ot 37 fSeia wre oftom st smiferssr off femerm
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(A) U e v (B) i fif
(ORECSIESIEEIH (D) =130
(E) rgafd 9

LK33CL {t+ 4 4 + 4 E

20

21

22

23

24

25

26

Which of'the following is not the necessary qualification for
the appointment of a Governor in a state?

(A)
(B)

Must be a citizen of India.

Must be a member of the Lok Sabha.

(C) Must be at least 35 years of age.

(D) Cannot be a member of the Rajya Sabha.
(E) Question not attempted

Who is the head of the council of ministers who aid and
advise the Governor in the exercise of his/her functions,
except in matters where the Governor acts in their discretion?
(A) District Collector (B) Minister of Home Affairs
(C) Chief Minister (D) State Finance Minister
(E) Question not attempted

Who is the Speaker of ‘the 16th Rajasthan Legislative
Assembly (as of June, 2025)?

(A) Kailash Chandra Meghwal
(B) Deependra Singh Shekhawat
(C) Vasudev Devnani

(D) Ram Niwas Mirdha

(E) Question not attempted

Where is the principal seat of the Rajasthan High Court
located?

(A) Jaipur

(C) Ajmer

(E) Question not attempted

(B) Jodhpur
(D) Udaipur

Where is the headquarters of the “Central Arid Zone
Research Institute” (CAZRI) located in Rajasthan?

(A) Jaipur (B) Jodhpur

(C) Bikaner (D) Jaisalmer

(E) Question not attempted

Sawai Jai Singh, in the year 1734, organized a conference of
all the rulers of Rajasthan to face the Marathas effectively
and stop their entry in Rajasthan. What was the name given
to this conference?

(A) Hurda Conference (B) Sanganer Conference

(C) Ambabari Conference (D) Jaipur Conference

(E) Question not attempted

Who among the following was imprisoned at the Todgarh
Fort for organizing a revolt against the British?

(A) Pratap Singh Barhat (B) Daulat Mal Bhandari

(C) Sagarmal Gopa (D) Rao Gopal Singh Kharwa
(E) Question not attempted

Which of the following princely states was not part of the
Matsya Union, during the integration of Rajasthan? (Choose
the most appropriate option from below)

(A) Alwar (B) Bharatpur

(C) Jaipur (D) Karauli

(E) Question not attempted

Name the famous musician who was awarded with the
famous Grammy award and who also invented Mohan
Veena.

(A) Pt. Vishwa Mohan Bhatt
(C) Allah Jilai Bai

(E) Question not attempted

(B)
D)

Jagjit Singh
Ila Arun
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fepei/eier =i Tifa @ o 1l SE fehat gl (fopelt o) Tt 510
EQV
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(€) 211 (D) 230
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T3fehet T 914 2
(A) 13,26 (B) 12,24
(C) 15,30 (D) 30,43
(E) a9
33 frfefad weal # @ raarE G FT SR €
(A) femrem (B) @earé
(©) T (D) fodt Ban
(E) orgafd g E
34 I HATT, 61 WU AT H HI-81 G0 T 5311 22
(A) fistaras gdam (B) HeHaTee G
(C) Trerars gdam (D) SAMears gaam
(E) Irafa s
35 fmfafad amen 8 @ e sede form &1 v et gam 22
(A) THEETR (B) T T 7
(C) 9oy @i 2l (D) TH9gar el
(E) - 3T w1
36 TR A T FATH I o el 36 a1 | for forgror
T T 53T 22
(A) HETETE gy (B) WTEHTHE fargryor
(C) TrET= faRiyor (D) ufmTUrEees fasor
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Name the journalist who started the newspaper “Rajasthan
Patrika” in the year 1956.
(A) Komal Kothari

(C) Birbal Singh

(E) Question not attempted

(B) Kripal Singh Shekhawat
(D) Karpoor Chandra Kulish

One man can do a work in 72 days. Four men and five
women worked together and completed the work in 12 days.
How many days will one woman take to do the work?

(A) 144 (B) 90
EAE
(C) 135 (D) 180 )

(E) Question not attempted

A person travels 325 km in 6 hours. At first he travels some
distance by bus at the speed of 40 km/hr and then he travels
the remaining distance by train at the speed of 65 km/hr.
How much distance (in km) did he travel by train?

(A) 221 (B) 229

(C) 211 (D) 230

(E) Question not attempted

In a school 1200 students are studying. They choose
different means of transport for coming to school. Number
of students are represented with their means of transport in
a nie diagram.

360 students
bicycle

180 students
walking

516 students
school bus

percentage of students go to school walking and
percentage of students go by bicycle.

(A) 13,26 (B) 12,24
(C) 15,30 (D) 30,43

(E) Question not attempted

frferfiad sreal § & WTaaTeeh T AT SaTE 2
(A) femem (B) Feag

(© @ (D) ot

(E) Question not attempted

S SFHTCT, FET @I AT H HIH-A1 G T AT 82
(A) fAstar=ss g Y IEREIEE X EEIL

(C) e &4 (D) s g

(E) Question not attempted

fmfefiad arei 7 @ fora sterden foram o1 wivT 1t gam 22
(A) T HIdT & (B) T T&TlT Rl

(C) wew@rgar gl (D) THYgaT 2l

(E) Question not attempted

“GTTL = T FHATHI 1 AT 81 38 a1 | fore forgroor

T AT §AT 82
(A) HEaTETEs farm (B) @TaTIe fargior
(C) TorETE faor (D) gimTorEee fareor

(E) Question not attempted

- Jfu o ) Vo
ey o L g
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(©) W D) T
(E) rgaid g
38 T SR B ATl AT 68 fohd | § 311 27
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() s (D) gt
(E) gaid o
39 frafafiaa & @ FH-w Tswe, 338 & wits i gEhe e
1 SrfaHgeaql Hid 27
(A) I3t (B) SHTHTHT
(C) GeEmm (D) drHads
(E) ¥gafasg
40 1T, S, FTATETS HIT A & H TE &9 9 el S et
Sl e @ (el IUITh 3L )
(A) HaTdt (B) Wt
(C) BT (D) garst
(E) rgafd 9
41 1T ST AT T T 3 A 0 22 (e | | e 30k
[EETEACE))
(A) FTMTULAE  (B) FHIT SHIEH ATl
(C) IaT e d1el (D) i1 AT HIST
(E) 3¥gaia g
42 FfaRad o @ -8 TereerTT ST 3 # T aeT ST e?
(A) T¢ (B) #MH
(C) <M (D) @R
(E) Fgafayd
43 freafaflad § @ s-a1 areef, <gfie arrE & wieo &
Jqid 3ATAT 87
(A) ST (B) dmm
(C) TEvIEeT (D) Tendmtd
(E) orgafid 9
44 TS5 ST F LAY T 19 9]
(A) (B) 9
(C) SeTsht (D) =St
(E) orgaid =
45 Sl Wi < SEIR-SET o foTe Seqe et < siiéer o &are
T il T fohe 7
(A) FuT e Fr@rad (B) reid FHforar
(C) 3T qerd! (D) hHS HISHT
(E) SFfai@usd
46 TR § § HIH-HT TS U7 | gai=d 20l e gfee
s Ug 22
(A) i werfiers (IGP)
(B) - 9fer HaTfae (DGP) CEAC)
(C) e e srefiersh (SSP) m
(D) yferd 3u werf-ierss (fewdl IGP)
(B) I 94
~ ) , =
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T T AEH I6E T

(A) ™

(€6 W

(E) Question not attempted
T3t o S T AT QAT o8 fohe WIoT § S 87
(A)
(C) s

(E) Question not attempted

(B) Tt EI5E
oy e

Which one of the following is the monumental works of the
famous poet, Suryamal Mishran of Bundi, Rajasthan?

(A) Urvashi (B) Kamayani

(C) Sansmaran (D) Vir Satsai

(E) Question not attempted

The dialect majorly spoken in Kota, Bundi, Jhalawar and
Baran region is called (Choose the most appropriate
answer):

(A) Mewati

(C) Hadoti

(E) Question not attempted

(B) Malawi
(D) Dhundari

What is the another name for the Kota Doria Saree? (Choose
the most appropriate option from below)

(A) Kota Gota Patti Saree (B) Kota Banarasi Saree

(C) Kota Cotton Saree (D) Kota Masuria Saree

(E) Question not attempted

Which of the following Rajasthani ornaments is not worn
on the feet?

(A) Nupur

(C) Daamna

(E) Question not attempted

(B) Jhanjhar
(D) Langar

Which of the following instruments, falls under the
classification of “Sushir” instruments?

(A) Algoza (B) Tasha

(C) Ravanahatha (D) Ektara

(E) Question not attempted

Name the founder of the Bishnoi sect.

(A) Pipa (B) Dhanna
(C) Jambhoji (D) Harbhuji
(E) Question not attempted

Who founded ‘Rupayan Sansthan’ at Borunda in Jodhpur
district for the promotion of folk culture?

(A) Kirpal Singh Shekhawat

(B) Karpurchand Kulish

(C) Acharya Tulsi

(D) Komal Kothari

(E) Question not attempted

Who out of the following, is the highest ranking police
official in Rajasthan state?

(A) Inspector-General of Police (IGP)
(B) Director General of Police (DGP)
(C) Senior Superintendent of Police (SSP)
(D) Deputy Inspector General of Police (Deputy IGP)
(E) Question not attempted
6 6 6 6 6 6
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47  TSTET AT ST (STRSTSET) 3 T el Fobm T o012
(A) 2008 (B) 2006
(C) 2007 (D) 2009
(E) 3¥gaia g
48 SIS AT A SAIHR AT (2005) IR FHT S AR G,
e fefafaa & @ wm-ar stfefem free s i mm o
(A) =T 3 EacErdr sAtfm, 2002
(B) =T s Facerdn sifafm, 1990
(C) =T o g sfufm, 2001
(D) =AfHITa e SfufRm, 2002
(E) rgafd 9
49 TAfRId § § FF-HT O1q, FIR Gehe & =i H, HIR B
fereorfue & T wehd?
(A) ST (B) @&t
(C) =itdr (D) Udfufrm
(E) ¥gafaud
50 U Yddl 40T § ArEdfeeh, 3wl 3T GHMH STTRI <A Yfdfsie
T STH BT €, AT g Feord Bl 2
(A) HiFE faig (B) IHAW
(C) skl g T (D) Thal g T
(E) gafd g
51 T (G 1 T TTQ) 36T T 9T e aTed gt (g 11 g
M0) § et =i
et 1 @) Tt 11 (T
a. JIPES I. TfﬁT
b. HefET 1L femo
c. UgH 1. Sfamg
d. =i IV. RIS (TEse)
fa T forepedl & § wET 3T TA:
(A) a-IL b-IV, ¢l d-I  (B) a-I, b-IIL, c-II, d-IV
(C) a-IL b, ¢-I, d-IV (D) a-1IL b-IV, ¢-I1, d-I
(E) 3rgaia 9
52 freferfiad ® € -8 wHer Tiaie &9 8, % ol 8 g
A & 2T EIAT 82
(A) T (B) sSmT
(C) SHTeAsIforT (D) TUNE™
(E) orgafd 9
53 3ATHT SIcl, ST St TR @TETey et i Femeha, Tste
% frfafaa & & fora faeera O @ geifia &2
(A) erg qeft (B) FaTg Fiefr
(C) HTArS et (D) TR
(E) Agaidu IS
54 frafafad 8§ @ FH-H TSEE § WO 9 8 S SE &
forg fftfa weemr 72 22 (e o @ ool 3ugh foaehed )
(A) €S (B) Ball
(C) e (D) ==
(E) 3¥gaia 9g
LK33CL {+ 7 7

47

48

49

50

51

52

53

When was the Rajasthan Information Commission (RIC)
constituted?

(A) 2008

(C) 2007

(E) Question not attempted

(B) 2006 E5E
(D) 2009 ¥

Which of the following Acts was repealed when the Right to
Information Act (2005) was passed and came into force?
(A) Freedom of Information Act, 2002

(B) Freedom of Information Act, 1990

(C) Access to Information Act, 2001

(D) Personal Information Act, 2002

(E) Question not attempted

Which of the following metals cannot displace copper from
copper sulphate solution?
(A) Zinc

©
(E) Question not attempted

(B) Iron

Silver (D) Aluminium

A concave mirror gives real, inverted and same size image,
when the object is placed:

(A) at focal point

(B) - at infinity

(C) atcentre of curvature

(D) beyond centre of curvature

(E) Question not attempted

Match the diseases (given in list I) with the disease-causing
pathogens (given in list II):

List I (Disease) List II (Causes)
a. Typhoid I.  Worms
b. Malaria II. Virus
c. AIDS III. Bacterium
d.  Elephantiasis IV. Plasmodium (protozoan)

Choose the correct answer from the options provided:
(A) a-ll, b-IV,c-IlI,d-I  (B) a-l, b-III, c-I1, d-IV
(C) a-lIL b-II, ¢-I,d-IV (D) a-III, b-1V, c-II, d-I
(E) Question not attempted

Which of the following community is traditionally
associated with narrating stories from Phad paintings?

(A) Bhopas (B) Banjaras

(C) Kalbelias (D) Sargodas

(E) Question not attempted

The Amer style, Jaipur style and Shekhawati style of
painting are associated with which one of the following
painting schools of Rajasthan?

(A) Dhundhad school (B) Mewar school

(C) Marwar school (D) Hadoti school

(E) Question not attempted

Which of the following is not a structure, traditionally
constructed for water conservation in Rajasthan? (Choose
the most appropriate option from below)

(A) Johad (B) Chhatri

(C) Tanka (D) Baori

(E) Question not attempted

/ /

N
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55

56

57

58

59

60

61

62

63

LK33CL {t &

TSTET | TROT o 998 , B, TR ST awrer S 7iia forg vd
o FTET TG 82

(A) feareft (B) R
© o (D) et
(E) orgafid 9

(A) IO T (B) wWien=r®
(©) s@rd (D) RH
(E) rgafd 91

frfafiad & § FH-81 @@ & F TE g TERid T
SR Aleh-Icd 2, el [SeIveRt foame & STaat w Tdsh Uh
ATgT i A8 IS UTd 87

(A) AT B) ey
(C) MIF (D) FS! =gt I
(E) 3¥gaia g

S A1ed “TER 9@ (IR ) TSTEAH o 1 7 & fofg e o
Tsifera 87

(A) AT (B)

(C) 3T (D) AN

(E) orgafd 9

ST ¥ foreferiad &t 8§, R @ 8 wimer 5 feug 2
(A) Hrt (B) =&

(C) wrgaret (D) SHEemt

(E) 3¥gaia 9

frefarfiad & @ =H-41 318 R wiorem i sedremn 4 9
w9 g T o9

(A) EHTSETE (B) drkditieh
(C) TR (D) "9yq G
(E) orgafd 9 s

Choose the most suitable word to fill in the blank in the
following sentence:

The auditorium has a seating for seven hundred
students.

(A) capability
(C) capacity
(E) 3¥gafasg

Fill in the blanks in the following sentence with the most

(B)capillary
(D) capitulation

suitable pair of articles:

Being M.A. only, he could not be appointed to the
post of Assistant Professor.

(A) the, an (B) a,the

(C) the,a (D) an,an

(E) 3Tgeia 9

Fill in the blank in the following sentence with the most
appropriate determiner:
have brought you home.

(A) I (B) Me
(C) She D) It
(E) 3¥gatea 99

@ o)

55

56

57

58

59

60

61

62

On which festive occasion, do groups of Rajasthani men
sing songs like Hori, Rasiya, and Dhamaal?

(A) Diwali (B) Dussehra
(C) Teej . (D) Holi E5E
(E) Question not attempted =

Chand baori (Stepwell) is located at -

(A) Abhaneri (B) Bhndarej
(C) Bundi (D) Amer
(E) Question not attempted

Which of the following is a commercial folk-dance
performed by the men of the Shekhawati region, especially
on the occasion of marriages where dancers dresses up like
a warrior?

(A) Agni dance

(C) Gair dance

(E) Question not attempted

(B) Gindad dance
(D) Kachhi ghodi dance

The folk drama Chahar Bayt (Chaar Baint) is associated
with which of the following places in Rajasthan?

(A) Jaipur (B) Tonk

(C) Udaipur (D) Alwar

(E) Question not attempted

In which of the following regions of Rajasthan, is Harshnath
temple located?

(A) Sikar

(C) Banswara

(E) Question not attempted

(B) Bundi
(D) Jaisalmer

Which of the following words was not there originally in
the Preamble to the Indian Constitution.

(A) Socialist

(C) Republic

(E) Question not attempted

(B) Democratic
(D) Sovereign

Choose the most suitable word to fill in the blank in the
following sentence:

The auditorium has a seating for seven hundred
students.

(A) capability

(C) capacity

(E) Question not attempted

(B) capillary
(D) capitulation

Fill in the blanks in the following sentence with the most
suitable pair of articles:

Being M.A. only, he could not be appointed to the
post of Assistant Professor.

(A) the, an (B) a,the

(C) the,a (D) an,an

(E) Question not attempted

Fill in the blank in the following sentence with the most
appropriate determiner:
have brought you home.

(B) Me

(D) It

(A) 1

(C) She

(E) Question not attempted
8 8 8 8 8
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64

65

66

67

68

69

Match the following sentences (given in list I) with the
appropriate prepositions (given in list II) in order to fill in
the blank of the respective sentence:

List I (Sentences) List II (Prepositions)
a. Do not rob me L above
my dignity by
asking such a question.

b. He threw the book II. to

the table.
c.  The flags waved 1. of

our heads.
d.  Terrorists are a menace IV. upon

the security of
this country.
Choose the most appropriate answer from the options given
below:
(A) a-IV, b-1, c-III, d-11
(C) a-1, b-I11, c-I1, d-IV
(E) rgafd 9

Choose the option with the most appropriate use of

B) a-III, b-1V, c-I, d-IT
(D) a-IIL, b-I1, -1V, d-I

punctuation(s):
(A)
(B)
©

e

Oh we are ruined?
E

They have been to London, haven’t they?
The jester cried help? help?

(D) Krishna is dark skinned Radha is fair.

(E) 3Fgafia g

Convert the following sentence from Hindi to English:
79 e-fvirer i st ot 272

(A)
(B)
©
(D) Who is answerable for this irresponsibility?

(E) Fgafasg

Convert the following sentence from English to Hindi:

Who is accountable for this mistake?
Who is to be blamed for the troubles?
Who should we accuse of this crime?

All my sympathies are with you.

(A) H SISO AT FETTH < §

(B) 19 @Ter gHEI Y wergMfa il

(C) o8 g1 WeTgf AT |1 &)

(D) ¥ 39 T § STT9eh W1 AT R R
(E) rgaid 9

2 HEATHT % HCF 9 LCM 1 31T 1:6 21 A7 31 deenaii
UM 96 &, Al 371 LCM J1d |

(A) 12 (B) 18
(C) 24 (D) 48
(E) ogafd g

35 e, 28 HiEeTTT 371 32 T69 Ush HISHICT H 7T oo e,
wfee S e 9HEA: ¥ 138, % 205 R 225 FHiwd =
g31| W ek 3frea 2 (Hepedw % s wel) g3

(A) T 185 (B) T 187
(C) X189 (D) T 190
(E) rgafd 99
LK33CL {t 9 9 9 9

64

65

66

67

Match the following sentences (given in list I) with the
appropriate prepositions (given in list II) in order to fill in
the blank of the respective sentence:

List I (Sentences) List IL (Prepositions)
a. Do not rob me L above
my dignity by
asking such a question.

b.  He threw the book II. to

the table.
c.  The flags waved II. = of

our heads.
d.  Terrorists are a menace IV. upon

the security of
this country.
Choose the most appropriate answer from the options given
below:
(A) a-IV, b-1,¢-II, d-11
(C) a-L, b-UIL c-II, d-IV
(E) Question not attempted

(B) a-III, b-1V, c-1, d-II
(D) a-IIL, b-I1, -1V, d-I

Choose the option with the most appropriate use of
punctuation(s):

(A)
®)
©
D)
(E)
Convert the following sentence from Hindi to English:
39 T-Srier T Sarece fradhr 22

(A) Who is accountable for this mistake?

(B) Who is to be blamed for the troubles?

(C) Who should we accuse of this crime?

Oh we are ruined?

They have been to London, haven’t they?
The jester cried help? help?

Krishna is dark skinned Radha is fair.
Question not attempted

(D) Who is answerable for this irresponsibility?
(E) Question not attempted

Convert the following sentence from English to Hindi:
All my sympathies are with you.

(A) H STTaeR! 37O T FRIIHL T )

(B) AT Q1 THI Wl WETgfd e

(C) 0 ol weTgfer AT | 2

(D) Bt 39 AT H AT A1 FH HEIH( 2

(E) Question not attempted

[=]:¥ [
et
o E

The ratio of HCF and LCM of two numbers is 1:6. If product
of the two numbers is 96, then find their LCM.

A) 12 B) 18

(©) 24 (D) 48

(E) Question not attempted

35 children, 28 women and 32 men went to a restaurant. The
average amount spent on a child, a woman and a man is
T 138, % 205 and T 225 respectively. The average amount
spent per person (correct to nearest rupee) is:

(A) X185 (B) T 187
(C) 189 (D) T 190
(E) Question not attempted
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70 200 HIZT Tl Toh LAY 160 HieT wisl T GOT i 24 Yohs |
U AT B TR Y ife e 27
(A) 15 Tt/ siar (B) 18 et/ siar
(C) 54 Tt/ siar (D) 72 fepelt / siar
(E) orgafid 9

71 ARTLHITEHTER 7,500 5 5= T 20% T T EIT 8 A A
ad FI T 8,550 W = 9T 5% I =T 2t B1 S8 @ B A
BT 3T fora wfereTa?
(A) ®H,3.72% (B) @™, 5.24 %
(C) T, 6.26 % (D) @™, 4.18 %
(B) SAgafage

72 ATHT 1A AT FT 35% T ISH GT qAT 25% 9T <l shi
T318T T 0 AT B 8 AT € HT 80% WIT = 3 FoRTT o =231
AT 2| S8 1€ A T TSheT IfaTd T ITE T s=rar 22
(A) 10% (B) 8%
(C) 6% D) 4%
(E) Fgafayd

73 TN A FA R 27,000 1 TR H FS WIT 13% ST AT 5%
T a1k T & Framer sar W e o | afe 4 o se 59
AT FereTl § SIS SATST 6 g3, AT 5% SATSt o6l ATfieh L T
[EEMEIRIERUFIEIC KT
(A) % 13,500 B) % 7,500
(C) % 38,000 (D) 19,500
(E) rgafd 9

74 T 78,125 T 15 HaH o fATT 16% ATMNeh T 4, Tehd g AT J1d
L, STeIfeh SATST TG AT AT e &l 2
(A) T 16,645 (B) 20,290
(C) T 8,065 (D) T 35410
(E) rgafd o

75 U SAAIST 4 99 § WG AN W T il 60% ¢ Sl 2
% 9,200 T 2 I T ST SATS & Y FAshafg SATS T BT ST
SIS T TOMT ATy 22
(A) 2,967 (B) 2,697
(C) T2,679 (D) 2,976
(E) gaid g

76 840 faremfei arct weh forarmer™ ® et 3R Al it der §
AT 5:3 2| Foharft TTgferati shi 3T el form ST =t foh 7
STTATA 5:4 T ST
(A) 100 (B) 105
(C) 125 D) 175
(E) rgafd 91

77 U Ot ¥ &, Arer S el e il 6 # 4:6:9 F1 A 2
Ife el 18t 1 g, Aret el i dean ¥ 15 fe 7, 9@ 9
et foret 78 &2
(A) 76 (B) 85 EIE
(©) 91 (D) 95 Ofss
(E) 3¥gafa 99

78 3AfoRd ST A 7 U H|T | 3:2 o AT § TRT Few
1T Sifopa qem 7erar grr forern i 8 i ot SAgard 2:1 o1
o 3 H 3THT el AW R 1,57,300 Tl A hT TehA1 131 976
gt
(A) T 48,000 (B) T 48,200
(C) T 48,400 (D) ¥ 48,600
(E) rgafd o

Lk3cL ¢+ 10 10 10 10

70

71

72

73

74

75

76

77

A train of 200 m crosses a tunnel of length of 160 m in 24
seconds. What is the speed of the train?

(A) 15km/hr (B) 18km/hr LA
(C) 54km/hr (D) 72km/hr =2

(E) Question not attempted

If Renu gain 20% profit by selling one purse at
% 7,500 and have loss of 5% by selling another purse at
T 8,550. Will she have gain or loss and by how much
percentage?

(A) Loss,3.72 %

(C) Loss, 6.26 %

(E) Question not attempted

(B) Gain, 5.24 %
(D) Gain, 4.18 %

Amit spends 35% of his salary on food and 25% on
children’s education. He spends 80% of the remaining
money on rent of the house. What percentage of his salary
he is left with?

(A) 10%

(C) 6%

(E) Question not attempted

(B) 8%
(D) 4%

Harish invested a total of ¥ 27,000 on simple interest, partly
at 13% and the remaining at 5% per annum. If he earns
equal interests from the two investments after 4 years, then
find the sum invested at 5% per annum rate of interest.

(A) % 13,500 B) 7,500

(C) % 8,000 (D) % 19,500

(E) Question not attempted

Find the compound interest on ¥ 78,125 for 15 months at
16% per annum compounded half yearly.

(A) T 16,645 (B) 20,290

(C) T 8,065 (D) ¥ 35410

(E) Question not attempted

A sum of money increases by 60% of itself in 4 years on

simple interest. What will be the compound interest on
% 9,200 in 2 years at the same rate of interest compounded

annually?
(A) 2,967 (B) %2,697
(C) 2,679 (D) %2976

(E) Question not attempted

The ratio of number of boys to number of girls in a school
having 840 students is 5:3. How many more girls should be
admitted to make this ratio 5:4?

(A) 100 (B) 105

(C) 125 (D) 175

(E) Question not attempted

The ratio of number of green, red and blue balls in a bag is
4:6:9. If the number of blue balls is 15 more than that of red
balls, then how many balls are there in the bag?

(A) 76 (B) 85

(©) 91 (D) 95

(E) Question not attempted

Ankit and Aman invested amount in the ratio 3:2 and the
ratio between amount invested by Ankit and Amish was 2:1
for a business. At the end of the year their total profit was
% 1,57,300. How much amount will be received by Aman?

(A) T 48,000 (B) ¥ 48,200
(C) T 48,400 (D) T 48,600
(E) Question not attempted
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79 AfFdigma2fmdmasa e s B33 fad Fawar | 79
31 IE Tt U foq M frar st sm Cc A G e &
foram =f C s1haT S X A1 90 T H F § 3 foha fm
[SUnV
() 4 ®B) 3%

(©) 6 D) 5
(E) a9
80 A 19 U TC wreat s et et 11 <1 778 SHeh! SWIeh €T | 80
%maﬁﬁq:
g1 (97e2) = 1T ()
a. TN 1. et wfy
b, fommeff . FurEty
c. T . =9 gy
d ™ v, drdfer
i few 7u fereheat A @ @t ST 1 I ST
(A) a-LbIV, eI, d-1  (B) aIIlb-T,c-1I,d-TV
(C) a-T,b-TV,c-I,d-TIT (D) a-TV, b-11, ¢-I, d- T
(E) orgafd o

81 IANTHA’ 3163 H WIh IUE AATSY; 81
(A) = (B) *mm™
(C) = (D) 3
(E) ITafa v

82 “3TAUT o3 H I T & 82
(A) 3 (B) T
(C) = (D) =
(E) orgafd 9

83 frmfafad & & afe 1 wafaar=h wea 72 2: 83
(A) wHT (B) g
(C) Hem (D) fEt
(E) Srafa s

84 IS TR o fTC I &1 AT el 3o 2 84
(A) =M B) g
(C) T (D) TR
(E) Irgata s

85 “fRU 7T IUHW FI T WHA I, T AR % forq I s | 85
B
(A) fEm (B) FF E5E
(©) TR (D) Fa Gt
(E) Srafa s

86 frfoiiad & & Y& Wi 1 9 HifSTe- 86
a.  THICHS b, T
c. SHEGEAT d. geuHt
e. WM
e fa T forspedt © & Her ST I T = HINT;

(A) FaAb T e (B) #adT a3 d
(C) FaaTb 3N (D) FacdTa3fTe
(E) Iafaus

87 Frfafiad & § FH-81 aTH 3T 22 87
(A) T8 T SR 2
(B) 3E SISTHTST § ‘51T 1 TR’ Ifieh aTelt shicar foreft|
(C)  Ufd-Uct % ST =T 0T AT &1 eIl 27
(D) Wl foeeft ST R
(E) 3TIid 94

° 11 1 < E5E

LK33cL f+ 11 L A R -

A can do a work in 2 days and B can do it in 3 days. They
worked together for one day and the remaining work was
done by C in one day. How many days will C take to do the
work if he works alone?

(A) 4

©) 6

(E) Question not attempted

Tt 1 H fow T wreat o1 farer g 11 H & 178 3Heht 3wk |y
ERIREDIEL

1
(B) 35

(D) 5

a1 (1) Tt I (i)
a. TGN I oty
b. fommeff . sty
c. T 1. b gfer
d. wm Iv. <ty
i fou U foshedi § & wel 3O 1 99 it
(A) a-L b-IV, ¢l , d-I  (B) a-lII, b-1, c- 11, d- IV

(C) a-1Lb-1V,c L, d-1II (D)
(E) Question not attempted

a- IV, b-111, c-I, d- II

“HTTH" I8 H S U6 SIT3T; EZEE
(A) T (B) MW (el
(©) =1 (D) =

(E) Question not attempted
ST 763 H ITH T ¢
(A) ¥

(©) =

(E) Question not attempted
Fefafiad § € g 1 qataar= ee T8 o

(A) wHT B) 91

(C) Hew (D) T

(E) Question not attempted

D SN CE AR I RL A E IS INERILRIECES

(A) 3T=H (B) 13

(C) ags (D) &S

(E) Question not attempted

“fSpU T YRR AT T A AT, 38 I o fore 3 Tree

T
T

B)
(D)

&

(A) fomm (B) ¥
(C) =Rt (D) e
(E) Question not attempted
frmfeiiaa # 9 375 wreal 1 = hifse-
a. THICHY b. i
c. SEAREA d. v

e. JMH

e T U ferehedi H & Tl S ST 1 = HITIC;
(A) FaAb I e (B) Haeta 3 d

(C) Faab I ¢ (D) Haca e

(E) Question not attempted

ffafiaad & € F1-91 a1 313[E 27

(A) I8 T=a SR 2l

(B) 3T SISTITNT H ‘5T ol GRI” YTk aTeit shiedr fore|
(C) Ufd-Tet o ST =T HTT AT & HehelT 22

(D) W=l foeeft ST R

(E) Question not attempted

b
SN
S
e
sl
oY
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88

89

90

freferfad & @ Fi-a7 a1e <Tfer dam e HT 32T RY
(A) HTRIgER A ITE|

(B) T ST BT et L T R

(C) Hiamwel H e 311 W& el

(D) <ThIER 92 3 =T R

(E) orgafd 9
-GN G TeTa i 37 -

(A) IS T (B) TIMHE LA
(C) W15 T (D) © qHI% AT
(E) rgafd o

(A) 39T 3TThTd TR & @ AT
(B) T4 fhT 1wt firetan
(C) Toret =T =T STedt gva=T BT
(D) oie fet i s-3ieRd

88

89

920

(E) Agafaud
o1 3w mieh ey, Freferfiad & & fore v & feberdt 27 (e | O
Y el 9T forehed )
(A) "R (B) <aTH URTE
(C) AT HTR &Y (D) & s
(E) rgafd 9
02 s i Pt & e i e e 32 7
A T sia (B) wREHE 3
(C) w=uey e RESEIS]
(E) 3¥gaia s 03
93 TSR ¥ “sfieerqy v s aiEsEr freffad 5 4 e
e fafia 22
(A) T (B) W&l
(C) wreHdt (D) SO
(E) ¥gafa 9 94
94 9 T SFTUAT (201 1) % STAR, TSR h1 FeT SIEEAT 1
AT TRt wfcreTa S aHioT & | et off?
(A) 65% B) 75%
(C) 85% (D) 45%
(E) 3rgaia 9
95 S STt o | & o Fehe JiEt 7dl O #iH-a1 sfg s | 95
T R?
(A) THTEE AT (B) W@ AR Aty
(C) daarsta (D) S Gy S
(E) 3¥gaiaug
96 2011 3T SFMT % SFTER Tt o fohw e § omefror g & | 96
FAYara STfct <l ST wa St off?
(A) T (B) MR
(C) T (D) SR
(E) Ffaia sy
97 2Tt TSRS ST el IS T ATt e 3 g e | 07
et T bt BT et 2 -
(A) WA ATE-SH ofea
(B) gt gwaet & E5E
(©). i 3fe m
(D) SFH ATET ISR
(E) 3¥gaia 9g
19 9 ) Bas
LK33cL f+ 12 12 12 12 Gz

frefafaa & & F-or are < Sdue Fier F1 3 e?
(A) H T gag 4 <318l

(B) TfeT® TR 1 o1 L T 2l
(C) Hramdr # g =11 & gl
(D) =IER 92U 2 TR

(E) Question not attempted
-GN G FeTa il 319 B
(A) FTEHT HET (B) RIS &Lt
(C) eAT-S el (D) Gl qHI AT
(E) Question not attempted

qd Ui qHTRE, St sl €0, Senifn 1 o1 8-
(A) 3T 3TIHTT @ & @ AT

(B) 319 e =1 %t Tl

(C) el = 1 STedt qFa=T BT

(D) e fedt i wsieha

(E) Question not attempted

=]
s
=

The Indira Gandhi Canal originates at which of the following
places? (Choose the most appropriate option from below)
(A) Manpur (B) Dewas Hill

(C) Jawahar Sagar Dam (D) Harike Barrage

(E) Question not attempted

Which of the following is a saline water lake in Rajasthan?
(A) Pichola Lake (B) Jaisamand Lake

(C) Pachpadra Lake (D) Badi Lake

(E)- Question not attempted

On which of the following rivers, is the “Bisalpur Major
Trrigation Project” constructed in Rajasthan?

(A) Banas (B) Mahi

(C) Sabarmati (D) Banganga

(E) Question not attempted

As per the Census of India (2011), approximately what
percentage of the total population of Rajasthan lived in rural
areas?

(A) 65%

(©) 85%

(E) Question not attempted

B) 75%
(D) 45%

Which dam is built on Bandi river near Sanganer area of
Jaipur district?

(A) Hemawas Dam

(C) Nevta Dam

(E) Question not attempted

(B) Khalakh Sagar Dam
(D) Bandi Sandhara Dam

Which district of Rajasthan had highest schedule caste
population in rural area as per Census 2011?

(A) Ganganagar (B) Nagaur

(C) Alwar (D) Jaipur

(E) Question not attempted

Rocky feature of south-eastern Rajasthan, composed of
sandstone and limestone rock, with black fertile soil is
known as -

(A) Middle Mahi-Chhappan Basin

Eastern Plain Region

Luni Basin

Deccan Lava Plateau

Question not attempted

) W4 y 4
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105

frfeIfiad § & S19-91 THATT T (ST 2025 TF), TSTEM H
“HIT I YT HaTford L TET 27

(A) I (B) SR EgE
(©) g (D) 3% R
(E) orgafid 9

freafafaa & @ 9 Teea UST | 9oy € 9ihnl $eadt
9 U1 YT 87 (R | 4wl 39 forehed )

(A) TSEIE =T 30T 59 fm

(B) TSR U<T e Uiaed g

(C) TSEY™ 9 qitEe fmm

(D) TSR $etfydt v uftaea fam

(E) 3¥gaiasg

TSTET § =reT oot Hiet el fbud @, STet 2008 | wies
AT g8 ot

(A) I fepatr
(C) SIS fehett
(E) a9

What is the official/technical term for- “Something which is
officially approved or granted”?

(A) sanctioned (‘él"@ﬁ;ﬁ) (B) revolution th'lﬁ )

(C) presidency (37e4898) (D) parole (WSfdsie SHTHfH)
(E) rgafid 9

TS 3 Aifd 2023 ¥ FATER, TSEAH T § & a4 &
(STRCHY) T o HiTerah &t o1 fehat ferd 22

(B) HEUTS fohett
(D) ATeTTE fohat

(A) 8.6% (B) 7.6%
(©) 12.6% (D) 9.6%
(E) ¥gafasd

TSTEIT ST qiferear skl fawifSra s+ aref i Tan 1 9m
FATR?

(A) g (B) HepHIEA I@m
(C) Tk STASHEAET (D) TSfFrs @r
(E) 3¥gaia g

W 1 hiA-91 Frefafad TsT e & e 9] g
1T T AT 27

(A) USTE (B) LI

(C) wfemom (D) HEWTSZ

(E) rgafd 9

TeTeT 1 feferfad Terfe § @ wb-of ged 3=t 27
(A) TG (B) @

(C) TR (D) smm

(E) 3¥gaia g

106 Yfrear firgt & s o fr=ferfad § 9 si9-91 e Terd 22

LK33CL 1}

(A) THhT IAT A BT R

(B) . TSTEAT o feret 9Tt & 59 ehr 3 firgh =kt wfcmra stfere
E

(C) 39 oI i firgh it Stet ermeor erwar sifires Bt R

(D) T v & e 5 fosi & Fror 3| St et o=st
el 2

(E)  rgafd 91

13 1

| W
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P

98
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101
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104

105

106

Which one of the following is the only city running the
“Metro Rail” service in Rajasthan (as on June 2025)?

(A) Ajmer (B) Jaipur

(C) Jodhpur (D) Udaipur

(E) Question not attempted

Which of the following is the largest government-run
intercity bus-service provider in the state of Rajasthan?
(Choose the most appropriate option from below)

(A)
(B)
©)
(D)
(E)
Where is the Chamunda Temple

Rajasthan,where the 2008 stampede occurred ?
(A) Amber Fort (B) Mehrangarh Fort
(C) Junagarh Fort (D) Nahargarh Fort

(E) Question not attempted

Rajasthan State Intercity Bus Corporation

Rajasthan State Road Transport Corporation
Rajasthan Bus Transport Corporation

Rajasthan Intercity Local Transport Corporation
Question not attempted

in

Devi located

What is the official/technical term for- “Something which is
officially approved or granted”?

(A) sanctioned (Fi@ﬁﬂv?‘f) (B) revolution (%ﬂ%‘f)

(C) presidency (&q&4Uq) (D) parole (F{Slﬁa?l Eb'l'{'l'flﬁ'ﬁ)

(E) Question not attempted

According to Rajasthan Forest Policy 2023, Recorded
Forest Area (RFA) in the State of Rajasthan is what percent
of the State’s Geographical Area?

(A) 8.6% B) 7.6%

(©) 12.6% D) 9.6%

(E) Question not attempted

What is the name of the boundary line that separates
Rajasthan from Pakistan?
(A) Durand Line

(C) Palk Strait

(E) Question not attempted

(B) McMahon Line
(D) Radcliffe Line

Which of the following states of India does net share its
border with Rajasthan?

(A) Punjab

(C) Haryana

(E) Question not attempted

(B) Uttar Pradesh
(D) Maharashtra

Among the following peaks of Rajasthan, which one is the
highest?

(A) Taragarh

(C) Raghunathgarh

(E) Question not attempted

(B) Kho

EfE
(D) Jarga :

E3

Which of the following statements regarding desert soil is
incorrect?

(A) Tt has low fertility.

(B) The western parts of Rajasthan have a high percentage
of this type of soil.

(C) The water-retention capacity of this type of soil is
high.

(D) Tt has good water drainage due to large pores between
the sand particles.

(E) Question not attempted
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114

TS H AT Rl 3T SR ATkl ¥4 9 Grifed W & fog
YT T T FEAHTS T ST Tt 1 1 I=71fe Bt =1 < 27

(A) ST HTH () (B) dfea (@H)
(C) o Ufeh =m| (D) |EU IH
(E) orgafd 9

e & @ Fiv-ar v Afvm ?, o vsg 9= favmr =9
HTEOT 37T AT fcieh HOTe Yefed H T aarelt aeeri
T Hd 82 EgE

(A) &I HTago m

(B) SmEvfH Heer

(C) TTii it ox v riferfaehi g e

(D) €I o Jee

(E) rgaidud

TSR H, STHTHT STt 1 AR AT fohd TR o STerary
&5 | 37T 272

(A) 37 I & (B) 3T STy &
(C) ATAESITEaT & (D) I &

(E) orgafd 9

freafaRaa & & #9-dt 7d e e 7 it gere T2 T8 22
(A) Tt Tt (B) Frefifdiea 7t
(C) aré et (D) =T A

(E) 3¥gaia g

‘Office Order’ % foTT 3wy fewst w13 2-

(A) SRRt (B) STIEATH

(C) uftgx (D) R AT
(E) gaid g

“erefgeil T o1 T fefafaa § & foRe weg grar 22
(A) TTHR IR SHAT % HET

(B) fafir= Ty stferamfet & wex

(C) TThRY FHART 71T 3T qH-Aral (e & He

(D) HTHR HRTT 7 ITEaE T o 0

(E) Agafaud

TSl 1S TR O, FHTATTI- T I 0 Tk |1 3Tk e
T WSIT SIT T&T &, 1 38 1 had 87

(A) gft= (B) HRITCT-3TT

(C) ITTETH (D) fergaT

(E) rgafd 9

Fill in the blank in the following sentence with the correct
tense:

If he sticks to his exercise regime, he his ideal
weight by the end of this year.

(A) had reached (B) has been reaching

(C) is being reached (D) will reach
(E) ~ 3¥gata 99
LK33CcL f+ 14 14 14 14

107 What is the name of the grass species, which is traditionally

used to keep rooms cool and naturally aromatic in Rajasthan?
(A) Bermuda grass (Durva)(B) Vetiver (Khus)
(C) Blue Panic grass (D) Sewan grass

(E) Question not attempted

108 Which of the following is an approach, wherein state forest

departments support local forest-dwelling communities in
forest conservation and natural resource management?

(A)
(B)
(©)
(D)
(E)

In-Situ Conservation

Wetland Conservation

Native Species based Ecological Restoration
Joint Forest Management

Question not attempted

109 In Rajasthan, most of the Jaisalmer district falls under which

type of climate region?
(A)
(B)
©)
D)
(E)

Semi Arid Region

Humid Climatic Region
Very Humid Climate Region
Arid Region

Question not attempted

110 Which of the following rivers is not a tributary of Chambal

River?
(A) Parbati river

(C) Jawai river

(B) Kalisindh river
(D) Banas river

(E) Question not attempted

=
o
=

111 *Office Order’ % feTe 377 ferw<t wreg 2-

INEE BRI
(C) 9iw=

(E) Question not attempted

(B) IFTEHTH
(D) R TS

112 “aeahi o &1 g3 feforfiad # 9 forer 9e7 giar 22

(A) TTHR R SHAT & 7T

(B) fafi= awardt stfermrict = wer

(C) T HERT 3T 3Tk AI-Hraf-ell o g
(D) TR FHRTT 37T T3 ot o we

(E) Question not attempted

113 7o RIS TR O, SHIITT -9 3T 9 Teh |1 3Tk ffat

T USTT ST 7T &1, 7 38 T hed 82
(A) ufte (B) HMTTI-TaTT
(C) ITTHTH (D) ferg=

(E) Question not attempted

114 Fill in the blank in the following sentence with the correct

tense:
Ifhe sticks to his exercise regime, he his ideal
weight by the end of this year.

(A) had reached

(C) is being reached

(B) has been reaching
(D) will reach
(E) Question not attempted
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LK33CL {+ 15

Choose the mot appropriate option to convert the given
sentence from Active to Passive Voice:

His employees were mocking him.

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

He is been mocked by his employees.
He was being mocked by his employees.
His employees mocked him.

He was found to be mocked by his employees.

ST 94

sentence from Direct to Indirect Speech:

She said to me, “We are to leave for the theatre early.”
(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

She told me that we were to leave for the theatre early.
She inquired if we were to leave for the theatre early.
She said that we are to leave for the theatre early.

She insisted on leaving for the theatre early.

AN w4

Negative Sentence to an Affirmative Sentence:
There is no rose without a thorn.

(A)
(B)
(©
(D)
(E)

Choose the most appropriate option to convert the given

Roses have thorns.
Thorns are commonly found on roses.
Every rose has a thorn.

No roses without thorns are present.

AR 9

Interrogative Sentence to an Assertive Sentence:
Why waste money on designer bags?

(A)
B)
©
(D)
(E)

Choose the most appropriate option to convert the given

Designer bags are an expensive monetary investment.
It is foolish to waste money on designer bags.
What a waste designer bags are!

Everybody wastes money on these designer bags.

ERRIER]

Assertive Sentence to an Exclamatory Sentence:
It is contemptible that you are a scammer.
(A) Alas! What a scammer.

(B) Oh to be a scammer!
ok

(C) 1wish you were not a scammer.
i

(D) Fie, what a scammer you are!

(E) rgafdu

Choose the most appropriate option in order to make the
following sentence grammatically correct.

Aristotle was one of the wisest man that ever lived.

(A) one wise man (B) one of the wise men

(C) one of the wisest men (D) no correction needed

(E) rgafd 92

[}
4

> 4

5

[=]:£[]

115

116

117

118

119

120

Choose the most appropriate option to convert the given
sentence from Active to Passive Voice:
5

His employees were mocking him. %

(A)
B
©
D)
(E)

Choose the most appropriate option to convert the given

He is been mocked by his employees.

He was being mocked by his employees.

His employees mocked him.

He was found to be mocked by his employees.

Question not attempted

sentence from Direct to Indirect Speech:

She said to me, “We are to leave for the theatre early.”
(A)
(B)
(©)
(D)
(E)

Choose the most appropriate option to convert the given

She told me that we were to leave for the theatre early.
She inquired if we were to leave for the theatre early.
She said that we are to leave for the theatre early.

She insisted on leaving for the theatre early.

Question not attempted

Negative Sentence to an Affirmative Sentence:
There is no rose without a thorn.

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

Roses have thorns.

Thorns are commonly found on roses.
Every rose has a thorn.

No roses without thorns are present.

Question not attempted

Interrogative Sentence to an Assertive Sentence:
Why waste money on designer bags?

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to convert the given

Designer bags are an expensive monetary investment.
It is foolish to waste money on designer bags.

What a waste designer bags are!

Everybody wastes money on these designer bags.

Question not attempted

Assertive Sentence to an Exclamatory Sentence:
It is contemptible that you are a scammer.

(A)
(B)
(©)
(D)
(E)

Choose the most appropriate option in order to make the

Alas! What a scammer.

Oh to be a scammer!

I wish you were not a scammer.
Fie, what a scammer you are!

Question not attempted

following sentence grammatically correct.

Aristotle was one of the wisest man that ever lived.
(A)
©)
(E)

L @)

one wise man (B) one of the wise men

one of the wisest men (D) no correction needed

Question not attempted
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